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R OO Olibrary(survival) OO0 require(survival) 0000000000000 0Surv(0DOOODO
000ooo00)0oo0O000o0O0000O0000O0O0000O00001 000000000 000DO0O0OO

*3 survival 00 0000000000000 Recommended 0000000000 Windows0OO ROOODDOOOOODOOO
0000000000000 00000000RO0O000 built-in 0000000 Obase, datasets, grDevices, graphics,
grid, methods, splines, stats, stats4, tcltk, tools, utils 0000 Recommended 0000000000000 OOO
built-in 00000000 Osurvival 0000 OKernSmooth, MASS, boot, class, cluster, foreign, lattice, mgcv, nlme,
nnet, rpart, spatial 0 00 Osearch() 000000000 O0O0DO0ODO .packages(all.avail=T) 00000000000
0000000000000 0000000000D00000 detach(package:survival) 000000
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time <- c(81,22,29)

time2 <- ¢(92,22,NA)

event <- c(3,1,0)

dat <- Surv(time,time2,event,type="interval")

00000000 dat000000000DOres <- survfit(dat) 00000000000000O0O0O0
0000000000 Oplot(res) O0ODOOOOOO0ODOOOOOODOOODOODOOOOOOOOOOOOO
O0000summary(res) 0000000
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Fit13—1—2006.R \

x <- data.frame(
names = c("Edward","Shibasaburo","Robert","Hideyo"),
dob = c("1749-5-17","1853-1-29","1843-12-11","1876-11-9"),
dod = c("1823-1-26","1931-6-13","1910-5-27","1928-5-21"))
alivedays <- difftime(x$dod,x$dob) [x$names=="Robert"]
as.numeric(alivedays/365.24)
as.numeric(difftime (ISOdate (2007,1,22) ,x$dob)/365.24)

“0000000000000000000000000000000000000000000000000000000000
0doooooooooooooooooooooooooooooooooooonooooooooooooooooooon
0000000000o0o00o0o0o0oooooooooooooooooooooooooooooooooo0o0000o0000
goboooooooooOoOoOoooOo0oo



oo1

OO0D0O0DO (1995) O p60-61 DDODDODDODDODODO Gehan OO0ODOOOOOODODO420000000D0
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http://data.princeton.edu/wws509/datasets/gehan.dat 00 00000000000 OO0O0OOOOOOO
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. it13-2-2006.R
require (MASS)

require(survival)

print (res<-survfit(Surv(time,cens) “treat,data=gehan))
par(family="sans",las=1)

plot(res,lty=c(1,2),main="Gehan 00 0000000000 OOOOOOOOO™
legend(30,0.2,1ty=c(1,2),legend=levels(gehan$treat))

summary (res)

J

jO0ofj0o00OooUdO0oOo0d0ooUdU0ooOoUoDOoUoD2000000U0DOOODOO0DOOoUODOOUODOO
00000 9%%000000000
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Call: survfit(formula = Surv(time, cens) ~ treat, data = gehan)

n events median 0.95LCL 0.95UCL
treat=6-MP 21 9 23 16 Inf
treat=control 21 21 8 4 12

4-60000000000000000000O0O0ODOOODOOOOOO0ODOO0ODDOODOO0OOO0ODOD

gobooboobbooobdodbooooboobbooboboobbooboboobo

GehanDT—=RICOWTONTZV=314¥vTOv b+

0.2 [A—
‘ — &MP
""" control

0.0

7000 sumary(res) 0 0000000000000 OO0DOOOOO0ODOOOODOOOOOOOOODO

95%000000000000000000000000000O0 (™



Call: survfit(formula = Surv(time, cens) ~ treat, data = gehan)

treat=6-MP
time n.risk n.event survival std.err lower 95% CI upper 95% CI
6 21 3 0.857 0.0764 0.720 1.000
7 17 1 0.807 0.0869 0.653 0.996
10 15 1 0.753 0.0963 0.586 0.968
13 12 1 0.690 0.1068 0.510 0.935
16 11 1 0.627 0.1141 0.439 0.896
22 7 1 0.538 0.1282 0.337 0.858
23 6 1 0.448 0.1346 0.249 0.807

treat=control

time n.risk n.event survival std.err lower 95J CI upper 95J CI

1 21 2 0.9048 0.0641 0.78754 1.000

2 19 2 0.8095 0.0857 0.65785 0.996

3 17 1 0.7619 0.0929 0.59988 0.968

4 16 2 0.6667 0.1029 0.49268 0.902

5 14 2 0.5714 0.1080 0.39455 0.828

8 12 4 0.3810 0.1060 0.22085 0.657

11 8 2 0.2857 0.0986 0.14529 0.562

12 6 2 0.1905 0.0857 0.07887 0.460

15 4 1 0.1429 0.0764 0.05011 0.407

17 3 1 0.0952 0.0641 0.02549 0.356

22 2 1 0.0476 0.0465 0.00703 0.322
\\ 23 1 1 0.0000 NA NA NA //
K|:|D2 ™

survival 00 0000000000000 aml 0000000000 (acute myelogenous leukemia) 00000
goooooooooobooooobo 2000000010000 O00O0O0OOODODO0@mMOobD 10b0OObObO
00000000000 mo00o0o0o0o0o000000000000000000000oooooooooo®g
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time 0O0O00O0OO0OCODOOODOOOODOOOOOO

status OO0O0OOOOO0OOODOOOOOO1000000DO

X 0000000000000 00OMaintained 0000 O Nonmaintained 00000
godbooboobooobOoobOoobOoobOobDoOobOOo0obOooDoobODoobOo0obOooDbOoboDooboooboono
oono

% 00: Miller RG: Survival Analysis. John Wiley and Sons, 1981. O 0O 0O OEmbury SH, Elias L, Heller PH, Hood
CE, Greenberg PL, Schrier SL: Remission maintenance therapy in acute myelogenous leukaemia. Western
Journal of Medicine, 126, 267-272, 1977. 000000000000 Gehan OO OO OO

N J
-~ it13-3-2006.R ~

require(survival)

print(res <- survfit(Surv(time,status) x, data=aml))

summary (res)

par(family="sans",las=1)

plot(res,lty=c(1,2) ,main="0000000000000000O00O0OCOOOOCOOOOOO"™)
legend(100,0.8,1ty=c(1,2),legend=c("O000","0000 "))
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n events median 0.95LCL 0.95UCL
x=Maintained 11 7 31 18 Inf
x=Nonmaintained 12 11 23 8 Inf
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up = (di —eqn)

%

0000000000
uy = (1—4/8) + (0 —3/7) + (1 = 3/6) + (0 — 2/5) + (1 — 2/4) + (1 — 1/3) + (0 — 0/2) + (0 — 0/1)

oooOoOoOOooooooob 1338000b00000000o0oo0oo0oooooooooooonooo

(ni — nij)nidi(n; — d;)

77 XI: n;2(n; — 1)
ddddooooooooooooon
8—4) x4 7—3)x3 6—3)x3 5—-2)x2 4—-2)x2 3—-1)x1
(B-Nx4 (1-3)x3 (6-3)x3 (5-2x2 [@-2x2 (-1

82 72 62 52 42 32
O 00O 0O4*%4/64+4%3/49+3%x3/36+3*%2/25+2%2/16+2x1/9 0 0 000000 1457 0000000000
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ROODODODODOO0OODOO0OO0O0O0OO0O0O0O0ODO0000D000D0 time0 00000000 eventO 000000
group 0000 0O survdiff (Surv(time,event) “group) 00 0000000000000 O0OOOOOO0O
O000OCO0OC00O0O0O0ODOO0OD0OD0O0O000O survdiff(Surv(time,event) “group,rho=1) 0000000
it13-4-2006.R,

V =

require(survival)

time <- c(4,6,8,9,5,7,12,14)
event <- c(1,1,1,1,1,1,1,1)
group <- c(1,1,1,1,2,2,2,2)

survdiff (Surv(time,event) “group)

O0D0000000%?=120000 10p=0.2800000000000005%0020000000
cobooboboooobooooooooOoOooOoOobOOoO0OOOoOoOoOOoOoOoOOOoOO0OOOOODOOOObOOOn
ooobooooooocoobooooo
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survdiff (Surv(time,status)”x,data=aml) 00 0000000000000 340000000
0.065300000000000000000 5% 000000000000000000000000000
000000000000 000000000000000000000000000000000R OO0
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h(zi,t) = ho(t) - exp(Brzi1 + Paziz + ... + Bpzip)

00000000000R(y) DODODDOODODODODOODODODDOODDODODODDODOOODODO
0000000000000 ¢t00000000000000D B4,62,...6,00000000000000
0000000 exp(Be2i,) 0000000000000 00O00O0OO0OO0O0OOOOOOOODOOOODO
O0000000D0Cx00OOODO0OUDOOO0O0DDO0OOOO, 0000000000000 00O0UOOOOO
cooboooobooooooooooOooOoOobOOo0oOoOoOoOoOoobooOoOoOoOoOOoOoOoOOoOoOoDbObOOoOobooOOn
oobobooooooooobooooobooooboooo

cooooooo0ooooo0oOooOooo0oooooooooOo0oooooooooOooO00on0o 100020
00¢000000000000000D0000 h(t)0OODODODODOODODOODOODOODOODOOODOoooo
ooo

exp(Biz11 + Baziz + ... + Bpz1p)
exp(frza1 + Paz22 + ... + Bpz2p)
godoobooooobooobooboooob bbb oo b oL uooooooo
dodoooboooboooooooooboooboooobooooooooooooobooooboooon
godoooooooboooobooao

ggooooond

oo00ood0o0oOooO0oooO00OooO0U0oOOoOoU00DOOO0U0UDOoOoTo00U0oDoOOOoDODoOoOoUOOoOO
000000000000000 S)0D0T>¢000000000S(0)=10000000000000
000000000 A(y)00D0O0O0¢t0000O00O0DODO0O0OODODOOO

L Pt<T<t+ ATt S -SE+At)  dS@) 1 d(log(S(t)
h(t) = lim, At = A RS T Tat Sk dt
00000000000000H(®E) = [fh(udu = —logS(t) 000000000000008(t) =

exp(—H(t)) 00 D0D0OO
000000000000 200000000000 8(2,4)0000000000 H(z,t)00000

t t
10 = [ hlewdu = [ hou)exp(62)du = exp(3) o)
0 0
S(z,t) = exp(—H(z,t)) = exp{—exp(8z)Hp(t)}
00000000000000000000000000
log(—log S(z, 1)) = B2 + log Ho(t)
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0000000000 0000000000000000000*0R0O000000000O000
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oo4
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(itl3—5—2006.R N
require(survival)

summary(res <- coxph(Surv(time,status) “x,data=aml))

loglogplot <- function(X) {

S <- X$surv

T <- X$time

G <- X$ntimes.strata

GG <- names(X$strata)

GX <- rep(GG,G)

xr <- c(0,max(T)*1.5)

mas <- ifelse(max(8)==1,0.99,max(S))

mis <- ifelse(min(S)==0,0.01,min(S))

yr <- c(log(-log(mas)),log(-log(mis)))
plot(T[GX==GG[1]],log(-1log(S[GX==GG[1]1)) ,type="1",1ty=1,x1lim=xr,ylim=yr,
xlab="time",ylab="log(-log(S))",main="00000000")
for (i in 2:length(GG)) {
lines(T[GX==GG[i]],log(-log(S[GX==GG[i]])),1lty=1)
}

legend (max(T),-2,legend=GG,1lty=1:1length(GG))

}

KM <- survfit(Surv(time,status) “x,data=aml)

par(family="sans",las=1,mfrow=c(1,2))

plot(KM,main="aml 000000000 O0OOOOOOM™

loglogplot (KM)
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00000000000 000000000000000000000000ExactJ000Breslow J000Efron00000
000000000000 000 Exact 0000000000000 0OO0O0OO0OOODOOOOUODOOOOODODOOOOOO
0000000000000 0000000000000000000000D000U0000Breslow 0000000 OOODO
O0ORO coxph() DO0O0O0D0O0000 Efron00000Breslow 0000 Efron0000 Exact 0000000000



Call:
coxph(formula = Surv(time, status) ~ x, data = aml)

n= 23
coef exp(coef) se(coef) z P
xNonmaintained 0.916 2.5 0.512 1.79 0.074
exp(coef) exp(-coef) lower .95 upper .95
xNonmaintained 2.5 0.4 0.916 6.81

Rsquare= 0.137 (max possible= 0.976 )

Likelihood ratio test= 3.38 on 1 df, p=0.0658
Wald test 3.2 on 1 df, p=0.0737
Score (logrank) test = 3.42 on 1 df, p=0.0645

- J
0000 5%0000000000000000000000000000000000000000*0
0000000000000 Oexp(coef) D0 250020000000000000000000000O0
00000000 25000000000000000000%%00000 100000000O0O0O0OODO
5%00000000
30000000000 200000000000000000000000000000000000
ooooog
oos

0010000 GehanOOOOOOOOOOOOOOODOOO 6-MPOOODOOOOOOOOOOODO

gobooboooboboobooboo
it13-6-2006.R

require (MASS)
require(survival)

res <- coxph(Surv(time,cens) “treat,data=gehan)
summary (res)

plot (survfit(res))

summary(res) D0 0000000000000 ODOplot(survfit(res)) DO0OOODODOOOOODO
000000000 0o0o0oDoOo9%%i000000oooooo

*7T0000 Score (logrank) test 000 DODOD Raol Score 000000 ODN0survdiff() 000000000000
gobooobboooobooooo

4 00000000000000000000000000000000 10000000000000000000000
20000000000000000000D00D00DO0O0O0O0OD0OODO0ODO0O0O00 9%%00000000000000
plot (survfit(coxph(Surv(time,cens) “treat+pair,data=gehan))) 00 0000000000000 O0DOO0OO0OOO
0 plot(survfit(Surv(time,cens),data=gehan)) 000000000000 000D0O00O0O000O0O0OO0OOO0OOO
000000000000000 2000000000000coxph() 000000 subset=(treat=="6-MP") 0000000
gooooooogoooooooooooooooooOoOoOoOoooooooooooooooooooooooooo200
00000000000000 par(new=T) 000000000000 DOO0DO0OOOOOODOODOODOOOODOOOOODOOO
gooboooobooboooobooooooooooooooOooooObo0oobboOooboOoOooboOoboooOoboOoOoOboOoOobboOooon

10



Call:
coxph(formula = Surv(time, cens) ~ treat, data = gehan)

n= 42
coef exp(coef) se(coef) z P
treatcontrol 1.57 4.82 0.412 3.81 0.00014
exp(coef) exp(-coef) lower .95 upper .95
treatcontrol 4.82 0.208 2.15 10.8

Rsquare= 0.322  (max possible= 0.988 )

Likelihood ratio test= 16.4 on 1 df, p=5.26e-05
Wald test 14.5 on 1 df, p=0.000138
Score (logrank) test = 17.3 on 1 df, p=3.28e-05

N J

0o000o0o0ooOoooooo s%0o0e-MPOODODOODOOODOODOODOUOOUOODODODODO
O0000OOexp(coef) 00 4.820020000000000000000006-MPODOOOOOOODO
000 482009%%00000 [2.15,1080000000000000O00O06G6-MPOOOOOOOOODO
oobobooooooon

gogoboboooobboooon

coooooooboboooboooOooOoOoOoOoOboOoOobOOoOoOoOOoOoOoOoOOoO0ODOOObObOOOOoOoon
oobobooooobooooooooooOoooOoboOobobooOoobooOooooOoOoOooOoOooboboOooobooOon
coooboooooboooo

1. 0000000000OO0O0DOOO
2.00o0o0oooo0oo0o0ooooooooooooooooooooooooooooon
. 00ooooooooooooooooo

jooooOooboooo0oooooooooooooOoOOObOOOoOoOoOooooooooOoDOOObObOnn
cobobobooobooooooooooOooOoOobOoO0boobooO0oobooOoOoOooOOoOoO0oOOoOoOobObOOOobooOOn
cooboboooboooooooooOooOoOobOOoO0OobOOoOoOoOoOoOoOoOOOoOoO0OOOOODbObOOObOoOOn
Oo0o0o0ooooo0ooom2000000000000000000C0O00O0O0OCOOOODOCOBOOO
O00O0O0ORO coxphO 00 0000000000000 OODOOO0DODOO0OODOOOOOOOstrata() O
gboobobbooboobooboobooboobooboobooboobboboobboD time0d
Uboobodl eventODOUOOUOOO0D0OO0O0O00O0O0 treatd 000000000000 stageOUOOOO
goboobooboooboobooobobooboobbooboobboboboobboobbOooboo
00000000000000000 coxph(Surv(time,event) “treat+strata(stage)) 0000000

gobodbobooboobobooboobboooboobboobuoobboobuobbooboOoo
ooooODOO0ODO0O 20000000000000000000000O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0OO
O00000000o0oOoooOo Alcoooooooo
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KI:I[I6 \
survival 00 0000000000000 colon00000000O0O0O0O0O0O0OOOOOOCOOOOODO1DO
OO0O0O0OLevamisole 000 0000000000000 D0O0O0O0O0DOO0OOOOO0ODOOOS-FUDODOODOOO
oooooooooooOO0l10000000000 200000000000000000O0C0O0O0OO0O00OOOO

id oo0idoo

study OO0 1

rx 0003000000000000bs00000000LevO Levamisole 00000 Lev+5FU OO
good

sex oob00o00oooOoO0ol0o000o0O0On

age UQ0OO0OOOOOOOOOO

obstruct OO0OIDOOODOOOOOOOOOOOOOlIODOOOOUOOOOOOO
perfor OO00O0O0ODO0OO0OOO0OOOO1I0D000O00O0O0OOOOO

adhere 000000000000 DO0OO0OO0OOO1000000000O0O00O
nodes 000000000 ODOOOOOO

status 000000000000 O0OOOOl100000000O0O0COOOO
differ DO00O0000000O00OO0O01000002000003000000
extent 0000000O0O0OOO0O0O0O0COO1000002000300004000000
surg O0000O000OOOOOOOOOOCOOO100000

node4 4000000000000000O00O0CO0O0OO0OO100000000O
time 0000000000O0O0O0OOOOOOOOOO

etype O000000O0OCOOOOOO0COO10000200000000A0

J

Levamisole 00000000 5-FUODDOODOOOOODOODOOODOODODOODOOOOOODOODOOOOO
goboooooocooooobooobooboooooooDoon )

0000000000000 0000000 colon20000colon2 <- subset(colon,etype==2) 0
000000000000 0000000000000000000000000O00001o0glogplot() O
it13-5-2006.RO00000000O M

~

colon2$sex <- factor(colon2$sex)

KM <- survfit(Surv(time,status) “rx,data=colon2)
layout(1:2)

plot (KM)

loglogplot (KM)

res <- coxph(Surv(time,status) “rx+age+sex,data=colon2)

summary (res)

j

Levamisole 0 5-FUODO0O0O0O0D0O0O0O0O0O0OOO0DOOODOOOOOODOOODOOOOOOOOOOOD
00000000 0.688009%00000 [0.545,0.869)00 0000000 10000000000000
000 0.00170000000000000000000000O000O0O000O0O00O0O00OOO0O0O0OO0
00000000000R?=0.01300000000000 x2=1250d.f.=4,p=00140000000
00000000o000oo0o0oo0ooooD0o00o0000000000000000000oooonooooon
000000000000000000000 9% 0000000000000000000000000
oooooo*o

O O0000000000000000000000000000000000000000000000000000000000
gooooooooooooDOOOO0OO0O000
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attach(colon2)

xls <- c(0,max(time))

plot (survfit(coxph(Surv(time,status) “age+sex,subset=(rx=="0bs"))),col=1,xlim=x1s)
par (new=T)

plot(survfit (coxph(Surv(time,status) “age+sex,subset=(rx=="Lev"))),col=2,xlim=x1s)

par (new=T)

plot (survfit (coxph(Surv(time,status) “age+sex,subset=(rx=="Lev+5FU"))),col=3,x1lim=x1s)
\detach(colon?) D
(‘ oov a\

00000 (199%) 000 ADD0D00O0O0O00000O000O00O00O0OODO0O0OOODOOODOO
O0000000oooooROOOOOOOOOOOOOOOOOOOOOODOOOODOOOOOOOO
000000 p.138-1500 0000000 SASOUOOOO RO coxph() DOODOOODOOOODOO
ooo

Kpcancer.R ~
dat <- read.delim("http://phi.med.gunma-u.ac.jp/medstat/pcancer.txt")
dat$CENSOR <- 1-dat$CENSOR
dat$SEX <- factor(dat$SEX, labels=c("O0O","0O0"))
dat$TREAT <- factor(dat$TREAT, labels=c("OOOO","O000O0O"))
dat$CH <- ordered(dat$CH,labels=c("CHO","CH1i","CH2","CH3"))
dat$STAGE <- ordered(dat$STAGE,labels=c("III","IV"))
dat$PS <- ordered(dat$PS,labels=c("0,1","2","3", "4"))
# data from 00000 (1995)0 0000000 SASO000DODODOOOOO0OOODODODO A.3
# J00O0O0O0ODOONishimura et al. 1988. 00O OO
# J00000000DOO0000D0O00O000OO0ODOOO0ODOOoOoDbOOooDoOooOg
# 000 Minato Nakazawa 20/1/2007 00 ROOODOO0O 1000 CENSORO OO DO OOOO
#okkx JOOO0 #xx
# CASENOO OO OO
# TIME 000O0O0OOODOOO
# CENSORU O UOODOODOOOooOOoooooooboboboobuoobo1obgoo oo rROObOO1OoobOoO
# AGE U0 DOUODOOODOOO
# SEX 00O oOdOoOoOoi1000
# TREAT 0000 o000OD0O0O0ODOO10000000
# BUI JO00OO0OoOO0O0OO100000d
# CH UOUOUODOUOOOODOOODOO 10CHOO 2:CH1O 3:CH20 4:CH3
# PO0OO0ODOOOOoODOOO1O0O
# STAGE TNMOODDOODODOODOOODODO 3:I11004:1v0d
\# PS Performance StatusU OO OOOOO0OOO 1:0,102:2003:304:4 j

N J
pcancer.RDEIDD*lOI:I[IEID[II]D[II]DI:IDDI:IDDDDDDDDDDDDDDDDDDDDDDD
0 SASOU0O0O0000 BreslowDOO0OOO0OO0O0OO0O0OO00O0O0O0OO00OO0O0OOO method="breslow"O D
000000000 Efron00 Exact OOOODOODOOO

*10 source ("http://phi.med.gunma-u.ac. jp/medstat/pcancer.R") 0000000
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e it13-7-2006.R

require(survival)

summary (coxph (Surv (TIME, CENSOR) “AGE+SEX+TREAT, data=dat, method="breslow"))

summary (coxph (Surv(TIME, CENSOR) “AGE+SEX+TREAT, data=dat, method="efron"))

summary (coxph (Surv (TIME, CENSOR) “AGE+SEX+TREAT, data=dat, method="exact"))

res <- step(coxph(Surv(TIME,CENSOR) ~AGE+SEX+TREAT+BUI+CH+P+STAGE+PS, data=dat,
method="breslow"))

summary (res)

y
0000000000000 O0O0OBreslow D000 SASOO0O0O0OO0OOOOOOOOOOOOOOOOO

0000000000 mMO00o00oo00 SASO000O0oO0OUoO TREATOBUIOSTAGEOOOOOO

0000000000000 00000O0000L0o0o0 STAGEOUODOOOOUDOUOOOoUoO

g

e J00D0O0DDODODO (19900000000 SASOOO0DOOOOOOOOOODOO.

gd

survival 00 000000000000 ovarian D00 O0D0O0ODOD 2000000000D0D0O0O0O
0000000000000 Eastern Cooperative Oncology Group 000000000000 O0OOOOO
gobgoooo

//futhne gooooooboooooooooobo h

fustat DOOOOOO

age oo

residds 000000001 000020000

rx ooboooooooboooooon

ecog.ps ECOGUUOOODOODOUDOUOUDOUOUDUOOOUODOOOOOOOOOODIODOUODODOOOO
ooo0o0oo0oooooOoOo0o0oO0oooOoO0oO02000000000000O0C0O00O000O0030000
000000000004 0000000005000000080Q0O

J
cobobooooobobocoobooOoOoOoOoO0OoOOoOoO0ObOO0OOOOOOoOOOCO0OO0ODOOOObOOOOOOn
oooooooooocooon
000 Ad000000000000000D00O0O0O0UDOODOO0OO0OODOOOOUOODOOOOOUD
000000000 webOOOOOOOOOOOOOOOOODOOOODOOOOODOOOOO
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